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SENIOR 2 History Homework
Attempt all questions by writing the letter representing the correct response

1.One of the following processes is not an audio-visual material used in collecting historical information.
     a) Radio   b) Computer  c) Videotape recordings   d)Language
2.The Germans and later the Belgians colonized Rwanda because they:
    a) wanted to marry Rwandese women
    b) wanted raw materials
    c)  wanted manufactured goods from Rwanda.
    b) wanted to use Rwandese soldiers in Congo and Tanganyika.
3.One impact of German and Belgian colonization was:
   a) taking over the freedom and power of Rwanda rulers
   b) taking Rwandan chiefs to rule over neighbouring tribes in their other colonies
   c) Allowed Rwandan men to marry European women
   d)Turned Rwandans into Europeans
4.European colonizers came in the following forms except one.
   a) traders  b) missionaries     c) as servants of Africans d) as administrators 
5. One of the following led to the Genocide against the Tutsi in Rwanda.
     a) The great love the Rwandans had for one another
     b)   introduction  of forced labour by the colonial government 
     c) Bad leadership during the first and second republics
     d) bad neighbouring countries
6.One of the following did not participate in the Genocide against the Tutsi:
    a) The Interahamwe
    b) The Presidential guards who guarded President Habyalimana
    c) The RPA soldiers
    d) The religious priests

7.The kongo kingdom rose to prosperity because:
    a) Weak leadership
    b) strong neighbours
    c) strong army
    d) internal disorders
  
8. One of the reasons below was not responsible for the development                                  of long distance trade in East and Central Africa?.   
 a)Production of different commodities by the two partners in business;
 b)The availability of slaves in the interior
 c)The great need of East and Central African goods by Arabs and Europeans 
 d)The desire of interior Chiefs to acquire the Arab goods
9. Buganda’s rise to power can be attributed to the following except one. which one is it?

     a)Men were free for warfare leaving agriculture to women  
   
      b)No succession wars,
    
      c)Strong central government

      d)Buganda kings were irresponsible

10.Why did the Ngoni invade central Africa?
 
a) To fight succession wars
b) To colonize the  population to the north
c) Fleeing from Shaka of the Zulu.
d) Running away from whites of South Africa.



Responses for S2
1) D       2) B         3) A       4 ) C       5) C         6) C      7) C       8) B      9 D           10 C
